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QUESTION 1

Identify four processors available in the cost processor.
A. Receipt Processor

B. Cost Distribution Processor

C. Cost Reports Processor

D. Cost of Goods Sold Processor

E. Cost Accounting Processor

F. Costing Period Processor

Correct Answer: BCDE

https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13-update17d/fapma/manage-
costaccounting.htmi#FAPMA146491

QUESTION 2
Identify two characteristics of an expense pool. (Choose two.)

A. It helps you analyze under-absorption and over-absorption of expenses that you want to capitalize onto the balance
sheet as inventory value.

B. It is a user-defined entity that represents a grouping of expenses that you want to absorb with resource and overhead
rates.

C. You can define the name of your expense pool, but you cannot define more than one.
D. It is used only for analyzing gross margins on noninventory sales of services.

Correct Answer: AB

QUESTION 3

Your client originally used Quick Setup to configure Cost Accounting However, after reviewing their costing policies,
they realize that they want to cost some of their lots differently then others What must they do to accomplish this?

A. Quick Setup generates valuation units so they just have to access those valuation units and make their changes.
B. They cannot change their current configuration; data generated by Quick Setup cannot be changed.
C. They must create their valuation units manually.

D. Quick Setup generates one valuation unit so they can access this to make changes and manually create new
valuation units.
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Correct Answer: D

QUESTION 4

Your client would like to accrue expense items at period end. What subledger journal entry rule set must be created in
order for the expense accrual Journal entries to be successfully generated?

A. Event Class: Expense Accrual Event Type: Expense Accrual

B. Event Class: Period End Accrual Event Type: Period End Accrual

C. Event Class: Expense Accrual Event Type: Period End Accrual

D. Event Class: Purchase Order Price Adjustment Event Type: Period End Accrual
E. Event Class: Purchase Order Price Adjustment Event Type: Expense Accrual

Correct Answer: B

QUESTION 5

Your client is using Quick Setup to implement Costing. They have a requirement to track costs for manufacturing
overhead. How can you make sure that this requirement is met?

A. Complete Quick Setup and then create the user-defined cost using the Manage Cost Component task.
B. This requirement will already be met by the default data generated when using Quick Setup.

C. Create the cost in Manage Cost Scenarios.

D. You can only track costs for Direct Labor and Direct Equipment; this requirement cannot be met.

Correct Answer: B

QUESTION 6
Which four statements describe what is unique about Cost Accounting for items received into inventory as consigned?

A. Consigned items cannot appear on inventory reports with information about the eventual value of the consigned
item.

B. There is no difference between owned inventory and consigned inventory.

C. The liability for a consigned item occurs when there is an ownership event.

D. A consumption can automatically trigger a momentary ownership transaction before the consumption transaction.
E. The quantity is tracked in inventory but not as an asset until there is an ownership event

F. Consigned items can appear on inventory reports with information about the eventual value of the consigned item
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Correct Answer: ABCF

QUESTION 7

Which four predefined costing reports can you use to gather information to review inventory value? (Choose four.)
A. Costing Account Balances Report

B. In-transit Valuation Report

C. COGS and Revenue Matching Report

D. Work in Process Inventory Valuation Report

E. Layer Inventory Valuation Report

F. Cost Accounting Valuation Report

G. Inventory Valuation Report

Correct Answer. ABCD

QUESTION 8

An invoice is created in a foreign currency. The invoice is not paid until several weeks later. By then, the
currency conversion rate has changed.

How do you get the journal line rule to calculate the gain or loss?

A. Create a foreign reporting currency to track gain/loss.

B. Create a secondary ledger to track gain/loss.

C. Turn on the Subledger Gain or Loss Option.

D. Subledger Accounting is already set up to process it.

Correct Answer: A

QUESTION 9

You have configured the application as follows:
Expense items are set to accrue at receipt.
Receipt Close tolerance is set to 75 percent.
Purchasing Line types are set to 2-way match.

When you create a purchase order, the Accrue on Receipt check box is automatically selected when a line
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is added.

Which two configurations changes will ensure the Accrue on Receipt check box is not selected by default?
A. Change expense items to accrue at period end.

B. Change the Purchasing Line types to 4-way match.

C. Change inventory items to accrue at period end.

D. Change the Purchasing Line types to 3-way match.

E. Change the Receipt Close tolerance so it is 100 percent.

Correct Answer: BD

QUESTION 10
Which statement is true regarding the cost cutoff date in Cost Accounting?
A. It only affects whether or not you can process a cost adjustment.

B. Transactions with a transaction date after the cost cutoff date will not be processed until the cost cutoff date is
changed to a date that is later than the transaction date.

C. Transactions with a transaction date after the cost cutoff date will not be processed. These transactions will never be
processed in any subsequent cost processor run.

D. Transactions with a transaction date before the cost cutoff date will not be processed until the cost cutoff date is
changed to a date that is before the transaction date.

Correct Answer: B

QUESTION 11

Which three cost planning tasks can be performed in the Cost Accounting work area?
A. Review Work Order Costs

B. Review Item Costs

C. Analyzing and Comparing Costs

D. Estimating Standard Costs for Assemblies

E. Manage Resource Rates

F. Manage Cost Accounting Periods

Correct Answer: ADE
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https://fusionhelp.oracle.com/fscmUl/topic/Topicld_P_C97AC111350FOD3EE040D30A68814D11

QUESTION 12

Identify two ways that standard cost is calculated.

A. Users must manually enter the cost of each configured item; the calculation is not automated.
B. The standard cost is the sum of the cost of the selected option items.

C. The cost of a configured item is calculated based on the work definition of the model item.

D. The standard cost of the configured item is based on the purchase order price quoted by the supplier for the
configured item.

E. The roll-up calculation can be performed to update standard costs for Cost Accounting purposes

Correct Answer: BE

QUESTION 13

Identify two characteristics of Landed Cost charge names.

A. Duty is a seeded charge name for Landed Cost.

B. You can modify a charge name until it is associated with a trade operation.

C. Charge names cannot be used to tie an invoice to a trade operation.

D. You can use multiple currencies within a trade operation for the same charge name on different lines.
E. Charge names cannot be associated with a PO schedule.

Correct Answer: BD

QUESTION 14

Assume today is November 15, 2015, and you are getting ready to implement new standard costs for the new year Your
cost planning scenario has a January 1, 2016 effective date. An item has three work definitions. One work definition has
an October |, 2015 effective date. A second work definition has a December 1, 2015 effective date. A third work
definition has a January 2, 2016 effective date. How will the application select the work definition?

A. It will use the work definition with the January 2, 2016 effective date.

B. Depending on the selection criteria, it will use the work definition with the December |, 2015 effective date or the work
definition with the October |, 2015 effective date.

C. It must always use the work definition with the October 1, 2015 effective date.

D. You will receive an error because the application will detect that all three are plausible, and it will be unable to
determine which one to choose.
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Correct Answer: D

QUESTION 15

You have made some changes to your subledger accounting setups for Costing and want to verify that the
journal entries are showing up correctly.

How can you generate a report that allows you to see the subledger journal entries for transactions without
actually transferring to the General Ledger?

A. Run the Create Accounting for Costing process with the following parameters: Accounting Mode = Draft Report Style
= Detail Transfer to General Ledger = No Post in General Ledger = No

B. Run the Transfer Transactions from Inventory to Costing process with the following parameters: Accounting Mode =
Draft Report Style = Detail Transfer to General Ledger = No Post in General Ledger = No

C. Run the Create Cost Accounting Distribution process with the following parameters: Accounting Mode = Draft Report
Style = Detail Transfer to General Ledger = No Post in General Ledger = No

D. Run the Create Cost Accounting Distribution process with the following parameters: Accounting Mode = Final Report
Style = No report Transfer to General Ledger = No Post in General Ledger = No

E. Run the Create Accounting for Costing process with the following parameters: Accounting Mode = Final Report Style
= No report Transfer to General Ledger = No Post in General Ledger = No

Correct Answer: A
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